
DACIA
1300
                                                                                        
1300                                                                                                 12/1972 - 05/1983

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

10RN4015 

23RN4080 

23RN4081 

Ball Joint 

TCA Right 

TCA Left 

77 01 455 906 

77 00 571 173 

77 00 571 172 

th:M12x1.25 RHT  cp:1/10 cs:Ø15,8  

c:1:9 th:M10x1.25 RHT  

c:1:9 th:M10x1.25 RHT  

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

10RN4015 

10RN4055 

23RN4080 

23RN4081 

Ball Joint Lower 

Ball Joint Upper 

TCA Right 

TCA Left 

77 01 455 906 

77 01 455 905 

77 00 571 173 

77 00 571 172 

th:M12x1.25 RHT  cp:1/10 cs:Ø15,8  

th:M12x1.25 RHT  cp:1/10 cs:Ø15,8  

c:1:9 th:M10x1.25 RHT  

c:1:9 th:M10x1.25 RHT  

10RN4015

23RN4081
23RN4080

10RN4015

1

3 2

                                                                                        
1310                                                                                                 05/1983 - 07/2004

10RN4015

10RN4055

23RN4081 23RN4080

10RN4015

1

4 3

2 2
10RN4055



DACIA
DOKKER
                                                                                        
DOKKER                                                                                                      11/2012 -->
DOKKER VAN (Express)                                                                                 12/2012 -->

26DC1000

17DC1000
20DC2000 20DC2000 17DC1001

4

5 8

2
3

26DC1000
45DC100045DC1000

8

1 1

6

10RN556010RN5560

7

30RN556130RN5560

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

10RN5560 

17DC1000 

17DC1001 

20DC2000 

26DC1000 

30RN5560 

30RN5530RN5561 

45DC1000 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Mounting 

TCA Left 

TTCA Right 

Strut Mount 

54 50 045 29R* 

60 01 547 610 

60 01 547 611 

48 52 131 72R 

82 00 277 960 

54 50 102 94R 

54 50 54 50 010 64R 

82 00 275 528 

 

c:Ø12,1 th:FM14x1,5 RHT 

c:Ø12,1 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:193mm 

L:73,4mm Plastic 

 

 



DACIA
DUSTER
                                                                                        
DUSTER                                                                                                      04/2010 -->

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

10

11

10DC1005 

17DC1005 

17DC1006 

20DC1005 

26RN0515 

30DC1004 

30DC30DC1005 

38DC1005 

38DC1015 

38DC1018 

45DC1000 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

TCA Left 

TTCA Right 

Stabiliser Mounting 

Silentblock for TCA 

Stabiliser Mounting 

Strut Mount 

40 16 023 08R 

82 01 108 339 

82 01 108 332 

82 01 108 350 

82 00 814 411 

54 50 116 97R 

54 50 054 50 001 38R 

82 00 287 912 

54 56 027 88R 

82 00 852 550 

82 00 275 528 

th:M12x1.25 RHT  cp:1/5 cs:Ø17,2  

c:Ø11,8 th:FM14x1,5 RHT 

c:Ø11,8 th:FM14x1,5 RHT 

th:MM16x1,5 RHT L:203mm 

L:295mm  

 

  

di:Ø12  

di:Ø14 do:Ø37,3 

di:Ø18  

 

38DC1018

26RN0515

17DC1005

10DC1005

38DC1015

20DC1005 20DC1005
17DC1006

38DC1018

10

9

4

7

5

1

2

5

3

10DC1005

1

26RN0515

2 X 4

8 8

38DC1005 38DC1005

4 X 4

26RN0515

5 5

26RN0515

11

30DC1005

6

30DC1004

45DC1000 45DC1000



DACIA
LODGY
                                                                                        
LODGY                                                                                                         03/2012 -->

26DC1000

17DC1000
20DC2000 20DC2000 17DC1001

4

5 8

2
3

26DC1000 45DC100045DC1000

8

10RN5560

1 1

6

10RN5560

7

30RN556130RN5560

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

10RN5560 

17DC1000 

17DC1001 

20DC2000 

26DC1000 

30RN5560 

30RN5530RN5561 

45DC1000 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Mounting 

TCA Left 

TTCA Right 

Strut Mount 

54 50 045 29R* 

60 01 547 610 

60 01 547 611 

48 52 131 72R 

82 00 277 960 

54 50 102 94R 

54 50 54 50 010 64R 

82 00 275 528 

 

c:Ø12,1 th:FM14x1,5 RHT 

c:Ø12,1 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:193mm 

L:73,4mm Plastic 

 

 



LOGAN
DACIA

LOGAN
LOGAN MCV
LOGAN PICK-UP
LOGAN VAN (EXPRESS)

09/2004 -->
07/2007 -->
03/2008 -->
03/2009 -->

17DC1000 20DC100020DC1000

10RN5541 10RN5541

10RN5542

38DC1002

17DC1001

30DC1001 30DC1000

5

2

10RN5542

8 7

1

10 10

38DC1005 38DC1005

1

9

3 4

26DC1000

6 11

26DC1000
45DC1000

11

45DC1000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

10

11

10RN5541 

10RN5542 

17DC1000 

17DC1001 

20DC1000 

26DC1000 

30DC30DC1000 

30DC1001 

38DC1002 

38DC1005

45DC1000 

 

Ball Joint 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Mounting 

TTCA Right 

TCA Left 

Silentblock For TCA 

Mounting Axle Body

Strut Mount 

 

60 01 547 520 

40 16 047 93R 

60 01 547 610 

60 01 547 611 

60 01 547 606 

82 00 277 960 

54 50 54 50 102 94R 

54 50 071 06R 

60 40 002 245 

82 00 287 912

82 00 275 528 

 

c:Ø18   do:Ø38,35 

c:Ø18   do:Ø38,35 

c:Ø12,1 th:FM14x1,5 RHT 

c:Ø12,1 th:FM14x1,5 RHT 

th:MM12x1.0 RHT L:188,5mm 

L:73,4mm Plastic 

  

 

di:Ø12,1 do:Ø37,2 

di:Ø12  



DACIA
LOGAN
                                                                                        
LOGAN II                                                                                                     10/2012 -->
LOGAN MCV II                                                                                              02/2013 -->

8 8

38DC1005 38DC1005

26DC1000

17DC1000
20DC2000 20DC2000 17DC1001

4

5 9

2
3

26DC1000 45DC1000

9

45DC1000

10RN5560

1 1

6

10RN5560

7

30RN556130RN5560

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

10RN5560 

17DC1000 

17DC1001 

20DC2000 

26DC1000 

30RN5560 

30RN5530RN5561 

38DC1005 

45DC1000 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Mounting 

TCA Left 

TTCA Right 

Mounting Axle Body 

Strut Mount 

54 50 045 29R* 

60 01 547 610 

60 01 547 611 

48 52 131 72R 

82 00 277 960 

54 50 102 94R 

54 50 54 50 010 64R 

82 00 287 912 

82 00 275 528 

 

c:Ø12,1 th:FM14x1,5 RHT 

c:Ø12,1 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:193mm 

L:73,4mm Plastic 

 

  

di:Ø12  

 



17DC1000 20DC100020DC1000

10RN5541 10RN5541

10RN5542

38DC1002

17DC1001

30DC1001 30DC1000

5

2

10RN5542

8 7

1

10 10

38DC1005 38DC1005

1

9

3 4

26DC1000

6 11

26DC1000
45DC1000

11

45DC1000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

10

11

10RN5541 

10RN5542 

17DC1000 

17DC1001 

20DC1000 

26DC1000 

30DC30DC1000 

30DC1001 

38DC1002 

38DC1005

45DC1000 

 

Ball Joint 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Mounting 

TTCA Right 

TCA Left 

Silentblock For TCA 

Mounting Axle Body

Strut Mount 

 

60 01 547 520 

40 16 047 93R 

60 01 547 610 

60 01 547 611 

60 01 547 606 

82 00 277 960 

54 50 54 50 102 94R 

54 50 071 06R 

60 40 002 245 

82 00 287 912

82 00 275 528 

 

c:Ø18   do:Ø38,35 

c:Ø18   do:Ø38,35 

c:Ø12,1 th:FM14x1,5 RHT 

c:Ø12,1 th:FM14x1,5 RHT 

th:MM12x1.0 RHT L:188,5mm 

L:73,4mm Plastic 

  

 

di:Ø12,1 do:Ø37,2 

di:Ø12  

DACIA
SANDERO
                                                                                        
SANDERO                                                                                                     06/2008 -->



DACIA
SANDERO
                                                                                        
SANDERO II                                                                                                 01/2013 -->

26DC1000

5 9

26DC1000

45DC1000

9

45DC1000

17DC1000
20DC2000 20DC2000 17DC1001

42
3

6 7

30RN556130RN5560

10RN5560

1 1

10RN5560

8 8

38DC1005 38DC1005

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 10RN2000 Ball Joint 77 01 472 038c:Ø16   

SOLENZA
                                                                                        
SOLENZA (B41)                                                                                   02/2003 - 03/2005

10RN2000

1 1

10RN2000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

10RN5560 

17DC1000 

17DC1001 

20DC2000 

26DC1000 

30RN5560 

30RN5530RN5561 

38DC1005 

45DC1000 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Mounting 

TCA Left 

TTCA Right 

Mounting Axle Body 

Strut Mount 

54 50 045 29R* 

60 01 547 610 

60 01 547 611 

48 52 131 72R 

82 00 277 960 

54 50 102 94R 

54 50 54 50 010 64R 

82 00 287 912 

82 00 275 528 

 

c:Ø12,1 th:FM14x1,5 RHT 

c:Ø12,1 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:193mm 

L:73,4mm Plastic 

 

  

di:Ø12  

 


